R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDIV- DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DB\C - Drawings\TX-4696.99.dwg, TX-4696

Endura

PERFORMANCE STANDARD

Opaque Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
International Residential Code (IRC), Sections R301 & Ré09 and the 2018
International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.’ ’ ‘

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details
Slidelte panel details (lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

N[ Ajw|N

112.25" MAX. OVERALL

131
*
*

9

%

'QZ% .

//’" "-,

IDON F. SCHMIDT
104123

FRAME WIDTH

82" MAX. OVERALL
FRAME HEIGHT (INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT (OUTSWING)

OXO

INSWING

+50.0

OXO

OUTSWING

+50.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

9/3/19 |ADD "FusionFrame” OPTION &

1

NO. DATE

REVISIONS

DATE: 5/11/17

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4696

SHEET 1 oF 7

© zo1 7 R.W. BUILDING CONSULTANTS INC. -



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DBN\C - Drawings\TX-4696.99.dwg, 2.3

HINGE STILE
(LAMINATED WOOD)

/

EXTERIOR

0.98" —1<—>

LATCH STILE
(LAMINATED WOOD)

/

i

' !
|- 1.63" — INTERIOR —— 1.3 ——f
WOOD LOCK BLOCK
12" LONG
m HORIZONTAL CROSS SECTION ( )
35.75" MAX.
PANEL WIDTH
24.75" MAX
D.L.O. WIDTH
> —] GLASS BITE 5/8"
—— 1" NOMINAL GLASS THK.
BACKBEDDING )
SEALANT t 1/8" TEMPERED GLASS
// \ AR SPACE
10 / S =
\2/ r ~~—_1/8" TEMPERED GLASS
—
= ALUM SPACER
mw O
i
(R R)
Z O [ ) C) GLAZING DETAIL
< — X A Flush Glazing
. (o] @\
> >
g < \
in f SEE HARDWARE
PR TABLE
(2
/
///
/
@
MASONITE
VistaGrande Flush Glazed
Fiberglass Door Panel

DOOR SKIN: FIBERGLASS {0.085" MIN. THICKNESS)

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES {991)
DEADBOLT: KWIKSET SIGNATURE SERIES {980/985)

TOP RAIL
(LAMINATED WOOD)

~

DOOR SKIN

INTERIOR

FOAM CORE

BOTTOM RAIL — |

(COMP.)

0.97"

EXTERIOR

0.91"

§_

N

- 1.75" ——]

/" 2"\ VERTICAL CROSS SECTION

\2/

9
o
-y
53
\-E‘_ g
£ D
0 , 9
(I)u.! [
0 N
. 'fm
cg o
o 09
'UE oo
« gl
ke e
>m
o®
2]
[\
X
O
[13]
[}
j: 1

P.E.

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

ENDURA

PRODUCT:

DOOR PANEL DETAILS
& GLAZING DETAIL

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

9/3/19 |ADD "FusionFrame” OPTION &

1

NO/| DATE

oATE: 5/11/17

scae: N.T.S.

DWG. BY: JK

CHK. ay: LFS

DRAWING NO.:
TX—4696

SHEET 2 oF 7

@ 2017 R.W. BUILDING CONSULTANTS ING.



OOV LY ui
.Q}:\' T ': t} a®
HINGE STILE LATCH STILE Sxribh. 83343?2? $3 0
(LAMINATED WOOD) (LAMINATED WOOD) Feri2 G T2 o B3
EXTERIOR TOP RAIL Facs 1T e &Y £+ B ye
— Ly ; t0 10 s 29 N g8 T
(LAMINATED WOOD) o A1 NN L L ]
~ Bui<\iei3 SIS\ N|¥, Ld8 Ua
" ¥ {,O‘-. Ziv Tio \N}c g & 2
/ * Y o J& 3K 80 ZZ
= 21 (.," At QJ’,:» 4 <29 oo
5 R G2 KN [T 384 B8
| . Sy E g g7 UE
* i ‘11\\.\'\'\-\\'\ & 8 R . Eg
|- L_ ] b v 932 .°
R 1t (4 =mgyg 00
1.63 INTERIOR 1.63 2 365 fu
& oo g 3
/ 1\ HORIZONTAL CROSS SECTION SPRIESKR |l : D g
‘V; 2 L
8
35.75" MAX.
PANEL WIDTH _
L. 2475 MAX S
D.L.O. WIDTH N
> a3
— GLASS BITE 5/8" < e
Sl
—— 1"NOMINAL GLASS THK. 3 |3 =2
BACKBEDDING ) R -
/ SEALANT \l 1/8" TEMPERED GLASS INTERIOR EXTERIOR ol B
10 v t AR SPACE 8 NEN
W / - 3 i § o 7)%’,
i._.
_ [~~~ 1/8" TEMPERED GLASS = 5
I [
O = O\
2 2 ALUM SPACER 2 b
-t x
z 9 X s
s 4 GLAZING DETAIL IS
> < Flush Glazing o
s = 8|E
= = =N
S 58] |o
o~ © R - =z
R @@ 5
/ 3
‘ | 5 2
//,/ FOAM CORE || S=| =
™ 23
. b o E
al=
<€
@
N e
2 s QRE
BOTTOM RAIL @
(COMP.) y g
MASONITE = 1.75" — oATE: 5/11/17
VistaGrande Flush Glazed SCALE:  N.T.S.
Fiberglass Sidelite Panel OWG. BY: K
CHK. BY: LFS
(2 VERTICAL CROSS SECTION Ty
SIDELITE SKIN: FIBERGLASS (0.085" MIN. THICKNESS) \3/ TX—4696
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) —

RAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-889 Masonite (Sub 1D 6923) FG VG GLAZED (LK,DB\C - Drawings\TX-4696.99.dwg, 3.3

© 2017 R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DBIC - Drawings\TX-4696.99.dwg, 4.3

o D
;-:.':‘N * ‘.§ ol 2, ? o 0
5/ S 5":‘?% isi y’i? \% o 0 §§
S L s 8 Z°
IS H Qim © 0l [$] 8 SN
q b - o iat Y e Z0.0 Zd
.‘3.03 \ P i z L g -
l" 3 " M P ] ¢ o - L3
/ / / B 7 iziE ¢ § G2 3z
Vi v ya Y, 181 ]
' ’ ' RIS SN 2.5 i
. / / BACK-TO-BACK JAMBS: i i Zg® Sb
10 *EusionFrame” "FusionFrame" (1 OR 2-PIECE) v f o xS o8
r4
\4/ i mm MULLION £ 3% g%
/3 i\ . PGl
m
B G 3) INTERIOR moxzzeR s X B8
O X2\ o O S % |~ WooDsCREW |3 & g%
\4 /|o|l” #8 X 2-1/2" FH COURSE O [ | ENDURA WEATHERSTRIP (SEE NOTE 2) 3
74\ THREAD DRYWALL SCREW (QEBD/PE 650) a
(SEENOTE 1) ENDURA WEATHERSTRIP SIDELITE PANEL
\4/ DOOR PANEL (QEBD/PE 650}
/ / / _ /
/ / / Z 4 e _ . 55
\ i ~ ‘ % 3 % Lot
I ) : a 5 NU)
b b q q \ & (2 23
SIDELITE PANEL/ / \ #8X 2-1/2" PFH #10 X 3" PFH g T %
. - WOOD SCREW | -
CORNER PADS 5 (3 N2 4 . #8 X 1" PFH SMS DOOR PANEL LaTcH WOODSCREW (seENOTET)  |S g
W Q/W #8 X 2-1/2" PFH WOOD SCREW 3 >
(TYP.) EXTERIOR STRIKE PLATE S &
#8 X 3/4" PFH SMS 4"HINGE EAIERIDR ¥ &
/"3 "\ HORIZONTAL CROSS SECTION ("4 HORIZONTAL CROSS SECTION 2 s
\_4_/ Outswing shown - Inswing diso approved \_4_/ Outswing shown - Inswing also approve "
e 1,5 —] ~—1.5" — 519
1t O
] wooD | ) 4-3/8" FATBOY 4-3/8"' FATBOY § g
\ N PINE MULLION PINE MULLION \ =1 |,
1=
\ . #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREADSEDé?LV(;TAg.Ii SCREW Lg « E
in g THREAD DRYWALL SCREW [QEBD/PE 650) / { } £ ol |&
3 ~) : (SEENOTE 1) ENDURA WEATHERSTRIP 8w
N N N \ DOOR PANEL 4 SIDELITE PANEL =
q | N 1 | (QEBD/PE 650) J 1% / / [re 5
' D D 2 "5-’. ' pezezad \ 8 S
v s i <
D D tla.‘:‘\ ..!k ./r'././/////."/////’ (s>}
O O = LY Dmvi \ S SN N NEE
(rigres v a——.ao. bbbttt My
| \G D) ‘\"*‘-“' m g ~ N IS
25" 25" / =X J 1
SIDELITE PANEL N #8 X 2-1/2" PFH WOOD SCREW bate: 5/11/17
FATBOY MULLION MULLION ) #8 X 1" PFH SMS DOOR PANEL St N.TS.
PINE "FusionFrame” #8 X 2-1/2" PFH WOOD SCREW LATCH ey
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR STRIKE PLATE e IS
NOTES: DRAWING NO.:
1. Spacing for sidelite screws: 6.5, 38.5" and 69" from head to sill (3 total). m HORI_ZONTAL CRO.?S SECTION /3\ ggﬁﬁggg\%‘ _C!’:Svfr% ixslsgg;?p':'oved TX—4696
2. Spacing for mullion screws: 6" from each end plus 3 more equally spaced (5 total). W Outswing shown - Inswing also approved \/ SHEEr 4 o 7

© 2017 R.W. BUILDING CONSULTANTS INC.




2X FRAMING 2X FRAMING 2ZX FRAMING ooty ‘(\ an
(G >=0.42) (G>=042) _— S oty N IS~
- (G>=0.42) ' — — Soreigi-ind, Qg o B
~— — ™ Fo-ist el NER 8 U8
) S~ ] 1 h Zo i5io SN 3u gB &
1 b T ik EXT. SHEATHING /1] il SN Lipia wzel |La 200 gl
EXT. SHEATHING || |4 TN EXT. SHEATHING 11 - \\ S, i Ei=Z L0 .
il = \ DRYWALL L I \ 1 204 12312 924 55 £ca 2,
\ i o DRYWALL \ it 2 f |PRYWALLL 9 TG KEEN |EF ELg B8
sl ‘ : ¥ 4 . ?{‘/ﬁé ..... ':“% e ?\Q = m a >n ﬁé
i - ) Nl ik WS rin O ., 58® &0
FiiiA . / #]0 X 2‘]/ PFH \ A > #]0 X 2_]/ 1] PFH fidl ,4; l‘l‘\l\‘{\.‘:\:\_‘\-\} &;‘ S .o: g g
AR |~ WOOD SCREW - |3 WOOD SCREW e 3 952 .
" R e = [, B I rad [] e}
SHIMSPACE SHiM QAPAXMSE\ b I — ™~ #10X3"PFH g ads gk
w¥ W¥ o pad WOOD SCREW 2 ok
SOE SHE 1/4" MAX. £ gg
o pe }
SHIM SPACE = 1000 [‘:TD*'J ;
\  EAD: PINE \ HEAD: "FusionFrame" {1-PIECE) 2
. . o
#8 X 2-1/2" FH COURSE HEAD:FINE ENDURA WEATHERSTRIP 5
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) &
(QEBD/PE 650) (SEENOTE 1) g 7
/7 EXTERIOR W 2 33
EAIERIOR INTERIOR — - : =
/ 1"\ VERTICAL CROSS SECTION /" 2\ VERTICAL CROSS SECTION (3 VERTICAL CROSS SECTION - Spacing for sidelite screws: g =
W Outswing shown - inswing also approved W Inswing shown - Qutswing also approved W Outswing shown - inswing also approved 6" from each end (2 total). & ol B
. 3 Of Wi
. a — =
(o] o
o <
a Q.
g 1%
1/4" MAX. A
SHIM SPACE _ 1/4'MAX.  #10X 2-1/2" PFH 519
#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW 2|0
) JAMB: PINE FUSi , SIE
0.75" —‘t‘—ﬁ 0.75" 1*—-—1— 0.75 DRYWALL JAMB: "FusionFrame’ DRYWALL =N
! __ \ / / (1 OR 2-PIECE) / S8 |»
el INTERIOR \ /] K ARG
COMPOSITE ] S R A 518 g
SNAP-ON #8 X 2-1/2" FH COURSE \ #8 X 2-1/2" FH COURSE 55| |
CAP THREAD DRYWALL SCREW THREAD DRYWALL SCREW R
N (SEENOTE 1) ‘ (SEE NOTE 1) LI
= = >
: il AN AN :
2
0 \\ N 2X FRAMING 2X FRAMING NRE
/ % LVL Z AR {G>=0.42) (G >=0.42) > 18
0 r 1Tlo
D L. S S . .S, ot - =z
" ————— ~ DATE: 5/1 1/17
— s | 125" == | 125" |~ / \ e NI
' SIDELITE PANEL SIDELITE PANEL ows. B JK
JAMB / HEAD JAMB / HEAD JAMB EXT.SHEATHING - EXTERIOR EXT. SHEATHING o e LFS
FINE it iy /~4 "\ HORIZONTAL CROSS SECTION /5 "\ HORIZONTAL CROSS SECTION N o6

w Outswing shown - inswing also approved

W Outswing shown - Inswing also approved

SHEET 5 oF 7

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DB)\C - Drawings\TX-4696.99.dwg, 5.3

© zo1 7 R.W. BUILDING CONBULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DB\C - Drawings\TX-4696.99.dwg, 6.3

ENDURA WEATHERSTRIP

7] [~ A\
2 ENDURA ) )
DOOR DOOR SWEEP DOOR\/Y DOOR SWEEP
PANEL PANEL (DBK-ZAC) DOOR
h o / / PANEL

#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5 PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW
m VERTICAL CROSS SECTION

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW
/ 2>\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [T'W CONCRETE SCREW

/ 3"\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold W Inswing Arficulating Threshold

SIDELITE
PANEL

U Outswing Bump Threshold

S'EEHEE\" DR

7

nis 2 _ —
#8 X 2.5' COURSE THREAD—— 1 Bh,_| #6 X 2.5 COURSE THREAD — 12 ci
DRYWALL SCREW m BN _—_ DRYWALL SCREW i %, 2 A
(SEE NOTE 1} = \\\\'\\\‘ &\\\\3\!‘ (SEENOTE 1) (7 //é ////////2 <7 wrerioR
INTERIOR EXTERIOR EXTERIOR __...__

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR TW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION
W Inswing configuration

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/5 "\ VERTICAL CROSS SECTION
w Outswing configuration

»
LI

NOTE:
Spacing for sidelite screws:
&' from each end (2 total).

1.

P 456" | | 456" | I 456" | } 456" |
T INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 ) HOWING ADWSTABLE HRESHOID (") NSHING ACJUSTABLE THRESHOLD 5"} INSWING ADJUSTABLE THRESHOLD
AIL4565 2 ) IaasesiN TAILAA4SSS TNAASSN ZAI4565RDS

4.56" !

.~ A I\ J
£ 456" | [ 456" | [
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD @ INSWING ARTICULATING THRESHOLD 9 JINSWING ARTICULATING THRESHOLD 10)INSWING ARTICULATING THRESHOLD
6 ZACLA565 7 ZAC4565FN IACLAA4565 ZACAA4565FN ZAC4565RDS
bl 4.56' ——| b 456" |
@ OUTSWING THRESHOLD 12)-QUISWING THRESHOLD 13)-QUISWING THRESHOLD
ZOBL4565 ZOB4565FN 7OB4565RDS

u
6 o
3
To 0
E; o
£ I
? uj 3
.0 ~
L lf"’
:g 6
o o
© oo
€ TN
2 39
>n
om
]
Y
x
o
o
[#]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

FIBERGLASS DOOR
VERTICAL
CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:
BY

UPDATE TO 2018 IBC/IRC CODE

9/3/19 |ADD "FusionFrame” OPTION &

NOJ DATE

1

REVISIONS

OATE: 5/11/17

scate: NLT.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4696

SHEET 6 ofF 7

© 2017 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DB\C - Drawings\TX-4696.99.dwg, 7.3

TOP OF

6.44' FROM
DOOR PANEL

|~

Byl

-]
Caty

37.625"

~-

=
[ RF
4

68.81"

HINGE JAMB

JAMB NOTES:

SEE HINGE
DETAIL 1

SEE HINGE
DETAIL 2

2X FRAMING
(BY OTHERS)

2"

HEAD ANCHORS:

#10 X 2-1/2" WOOD SCREW (PINE JAMB)

6"

/

#10 X 3" WOOD SCREW (1-PIECE JAMB)

]

\d
___J]_? (TYP.)
1

:‘jﬂ ﬁ"‘ (TYP.)
T K

SEE DETAIL 1

SEE DETAIL 1

g

a—
=
.

%
H/\Hx

_

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSI)

WOOD (G >=0.42)

o

4'(1YP) ——|

FRAME ANCHORING

OXO

*NOTE: THESE ADDITIONAL ANCHORS ARE REQUIRED FOR D.P. > 40 PSF.

THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.
THE FusionFrame” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.

INTEGRAL MULLION NOTES:

THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame” BACK-TO-BACK
JAMB (1-PIECE OR 2-PIECE} MAY ALL BE USED AS THE INTEGRAL MULLION.

CONCRETE ANCHOR NOTES:

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor locations at the comers may be adjusted fo maintain the min.

#8 X 2-1/2" COURSE
THREAD

DRYWALL SCREW

3

rapcon® | & | 13 1172 &
ELCO " it} " 111
ULTRACON®| V/ 1-3/4 1 4

PINE MULLION

"Fusionframe" MULLION

"FusionfFrame” BACK-TO-BACK JAMBS

0%%_":&,‘3:'\\. :'i o
w:ﬂ::‘ ¥ ‘*o-é 9— .:: “ % ; g
ELT Y €2 & &8
JAMB ANCHORS: T S o8 BT
#10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) g “{1}% 103 ct e Ed
#10 X 3" WOOD SCREW (1-PIECE JAMB) g“& =i S : E ry 2 =
R O, 10 tf 2§g 83
O A, e > Hge BE
f [N TN ¥A 584 @
) o g2 BE
s B Mindaede® & 8%« : &8
= 14
S o, 3 285 b
o g 9.5 o ©
>=8 § 592 gp
— & Mmoo 5
g o . § 89
© § &
- %\ E K BB
2 . - #8X2-1/2'PFHWS |8
lﬁ o Li[ @ e
] 1t /. =
SEE STRIKE/ 1 4 #BXT"PFHWS <o | S #8X3/4' PFH WS
| o= PLATE DETAIL B "~ 4" X 4" HINGE Q
"g o = A\ @
= \ S(: %
S o O
B & | HINGE DETAIL 1 S =
- t 3w
1 * - % <§f
<| a2
SILL ANCHORS: 3 | #8X2-1/2'PFHWS |5 x
#10 X 2-1/2" PFH WOOD SCREW ; = , 2 -
1/4" X 2-3/4" ELCO OR e Hl 9 © <
STRIKE JAMB L—® Li|*] - o
ITW CONCRETE SCREW SINIRE JAMB s H
#8X1 PFHWSé:,-;QB #8 X 3/4" PFH WS o b
" 4" X 4" HINGE =
\ 8
\ o]
3O
— DEADBOLTSECURTY  HINGE DETAIL 2 Z|e
STRIKE PLATE =1
#10 X 3" PFH WS =] 3|8 %)
:g ‘CE 9
(78]
#8 X 2-1/2" PFH WS —=] SR B
LATCH STRIKE clo| o
- PLATE Bl
i
STRIKE PLATE DETAIL a §
[
<
#10 X 3" PFH WS o
#10X 2-1/2" PFH WS (4 PLCS) N =
N \ S| P
o,
T i
R S S~ > owE: 5/11/17
ol scate:  N.T.S.
DWG. 8Y: JK
DETAIL 1 DETAIL 1 DETAIL 1 ok o LS
INTEGRAL MULLION ATTACHMENT ~ INTEGRAL MULLION ATTACHMENT INTEGRAL MULLION ATTACHMENT Y4696

SHEET 7 oF 7

@ 2017 R.W. BUILDING CONSULTANTS ING.



